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BBenenue

JlaHHOE MeTOANYEeCcKOe OCoONe MPEeAHA3HAYEHO JUTS BHIITOJHEHUS CAMOCTOSTEILHOI paboThI
CTyZIEHTaMH TEXHUYECKHX CIICIMATbHOCTEH OYHOM U 3a09HOM (hopM 00ydeHuUs

[TocoOue npencraBiseT co60ii COOPHUK TEKCTOB MPO(HECCHOHATBLHOW HAPaBIEHHOCTH.
CryaeHTaM TpeUIOKeHO 17 TEeKCTOB, TMO3BOJSIOIIMX O3HAKOMHUTBCS C TEPMHUHOJIOTHEH
cnenuanbHocTH.  [Ipm camocrositensHOl paboTe oOydaromyecs BBIIONHSIOT CIEAYIOIINE
3aJaHuUs: MPOYMTATh M IEpecKa3aTh TEKCT, OTBETHUTHh Ha BONPOCHI IO TEKCTY, INEPEBECTH
npodeccHoHaIbHbIC BBIPAKEHHS C AHIVIMHCKOTO S3bIKa Ha PYCCKHH SI3BIK, I0100paTh
AHTJIMHCKIE aHAJIOTH JJISl PYCCKUX CJIOB U CJIOBOCOYETAHHHN H JP.

PaboraTh ¢ TeKCTaMH MOXHO KaK Ha CaMOCTOSITENbHOW paboTe BO BpeMs YpoKa, Tak M Ha
BHEYPOYHOI CaMOCTOSTEIBHOM padoTe.

[Tocobue cocrasieno B coorserctBun ¢ ®I'OC CIIO, oTpakaer cOBpeMEHHbIE TEHACHLIUN U
Tpe6OBaHI/I9[ K 06y‘~IeHI/IIO N [OPAKTHYCCKOMY BJIAJACHHUIO HWHOCTpPAHHBIMU A3BIKAMHU B
npodecCHOHANIBHON IEATENIFHOCTH; HAIpPaBJICHO HAa COBEPLICHCTBOBAHME KOMMYHUKATHBHBIX
YMEHHI M HaBBIKOB CIEIIMAINCTOB CPEAHEr0 3BEHa, IMOBBIIICHHE KauyecTBa MPOPECCHOHATBHOTO

06pa3OBaHI/I$I 1 MHTCJUICKTYyaJIN3alUuIo0.

CocrtaBurenb: MoposoBa T.E., npenogaBarenb aHTJUUCKOTO SI3bIKA



TEXT 1
Exercise 1. Read and translate the text

We learn English.

It is very important to know foreign languages. Some people learn them for their work,

others travel abroad, some people learn them as a hobby.

At our college we learn English. We need English for our future profession. We shall read
articles in magazines and newspapers to know news in modern technology.

At our English lessons we read, translate texts, tell the topics, learn English grammar, do
exercises.

This year we shall have to pass exam in English.

We are sure that English will help us in our future life and in our future professions.

Besides knowledge of foreign languages helps us to develop friendship and understanding
among people.

Exercise 2. Answer the questions to the text

1. TItis important to know foreign languages?

2. Why do people learn foreign languages?

3. What languages do you learn at your college?
4. Why do you need English?

5. How will you use your English?

6. What do you do at English lessons?

7. What will you have to pass year?

8. What are you sure in?

9. What does knowledge help?

10. Who is your English teacher?

TEXT 2

INVENTORS

Exercise 1. Read and translate the texts

Orville and Wilbur Wright

The Wright brother invented, built, and flew the first airplane on December 7, 1903, at Kitty
Hawk, North Carolina. They reported their flight in a letter to government officials in
Washington, D. C., but such an achievement was considered impossible. Therefore, their letter
was ignored. It was not until 1908 that the Wright brother gained worldwide fame.

You can see the Kitty Hawk Flyer on display at the Smithsonian Museum in Washington, D.C.

Henry Ford (1863-1947)

Henry Ford was born in 1863. He was a man who transformed the world. The car he built
changed the lives of people everywhere. In 1896, Ford succeeded in building an automobile
powered by a gasoline engine. He built this engine in his kitchen sink. In 1903, Henry Ford
established the Ford Motor Company and introduced the Model T Ford.

Henry Ford wanted to make a car that everyone would be able to afford. He was able to
lower the price of the Model T from $850 to $360 by introducing mass production assembly line
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techniques. On an assembly line each person has one specific job and, therefore , can do it taster
and more efficiently.
Alexander Graham Bell (1847-1922)

Alexander Graham Bell was born in Edinburgh, Scotland, in 1847. He invented the first
telephone in 1976 and became a citizen of the United States in 1882.

Bell was a modest humanitarian who once told his family that he would rather be
remembered as a teacher of the dear than as the inventor of the telephone. Both and America ,
the inscription on Bell’s grave reads:” Born in Edinburgh... died a citizen of the United States of
America.”

“I wonder what the world would be like today if the telephone hadn’t been invented,”
Sasha thinks to himself.

New Words

. official — mOKHOCTHOE UII0, YHNHOBHHUK
. to achieve — nocturarts
. achievement- 10CTH>XEHNE
. to ignore- UrHOpUPOBATH (HE OOPATUTH BHUMAHHE)
. display — BbICcTaBKa
. to transform- nmpeoOpa3oBbIBaTH
. powered - NpUBOAMMBIN B ABH)KEHUE
. engine- JBUTaTesb, MOTOP ; JIOKOMOTHUB, TAPOBO3
. to introduce- BBOAUTH
10.to afford — mo3BonuTh cebe
11.to lower- cHmXKaTbCA
12.mass production assembly line technique - TexHomOruss MaccoBOro IPOU3BOJCTBA C
HCII0JIb30BaHUEM COOPOYHOIO KOHBeHepa
13.efficiently — a¢ppexTuBHO
14.modest — CKpOMHBII
15.humanitarian- TpOBOAHUK I'YMaHHOCTH
16.both...and...- kak...TaxK...
17.tribute — 7aHE B YeCTH
18.grave- moruna.

O 01O\ N W —

Exercise 2. Answer the questions to the texts

1.Who transformed the world? How?

2.What are the Wright brothers famous for?

3.When did the Wright brothers gain worldwide fame?

4.How did Alexander Graham Bell want to be remembered?

5.Where is the Kitty Hawk Flyer on display?

6.Have you ever invented anything?

7.1f you could interview one of these American inventors, who would you choose?
8.Talk about the inventors in your country.

9.What do you think the world would be like today if there were no cars, airplanes, or
telephones?

10.If you could invent something, what would you invent?

TEXT 3

Exercise 1. Read and translate the text



RUBBER

We all know what rubber is. We have seen it on the wheels of cars; we have used it to rub
out mistakes in drawing; we have played games with rubber balls. When we press a piece of
rubber we change its shape. But as soon as we stop pressing, the rubber springs back to its first
shape; we therefore say that rubber is elastic.

Rubber was first used to make rubber balls. In 1492, Columbus sailed from Spain and
discovered America. One of the many strange things which he and his men saw in America was
a game played with rubber balls. They noticed that the rubber balls bounced much better than the
balls which they had used in their own country. When the sailed home again they told their
friends that the balls were made from the gum of a tree.

Hundreds of years had passed before rubber was used in Europe and other parts of the world.
Small pieces of rubber were brought to Europe, and kept by people who liked to collect strange
things; but no one thought that rubber could be useful.

Then an artist found out that rubber would rub out pencil marks. That was one of the first uses of
rubber, and that is How it came to be called ‘rubber’.

Rubber trees grow only in countries where it is very hot and very damp. These countries are
near the equator; so it was in the countries near the equator that men went out to hunt for the
rubber trees. It was not easy to find the trees. In those hot damp lands, trees of many kinds grow
so close together that it is difficult to travel through the forests.

The men who were hunting for rubber trees found them growing wild in South America, in
Central America, and in West Africa. Nearly all the world’s rubber came from the great forests
of America and West Africa.

New Words

1. Bounce — noanpsIruBaTh 13.mistake — ommOka

2. Close - 0:113K0, psIOM 14.pause - maysa

3. Cross - epecekarb 15.press — Ha)KUMaTh, IIpecc

4. Discover - 1enatb OTKpBITHE 16.rubber - pe3una; pe3uHka

5. Discovery - oTKpbITHE 17.rub out - cTuparth

6. draw (drew, drawn) - pucoBaTh, YepTHUTH 18.shape - popma

7. drawing - pucoBaHue, YepUCHHE 19.sink (sank, sunk) - morpyarb(cs);
8. equator - sKBaTop 20.TONNTB; TOHYTh

9. find out - y3HaBaTh 21.spring back - 31. Bo3Bpamarbcs
10.gum — cmona 22.therefore - cie10BaTENBHO, TOITOMY
11.hunt - oXOTHUTBCS; KCKATh 23.wheel - koieco

12.hunter - 0OXOTHHUK

Exercise 2 Arrange the words in the alphabetical order.
Rub,rubber,gum,hunt,wheel,shape,mistake,draw,close,drawing,engage,creative,irrigate.
_Exercise 3 Read the text Rubber and find the answers to the questions:

1) What is rubber?

2) Where is rubber used?

3) What was the first use of rubber?
4) Where do rubber trees grow?



Exercise 4 Read the text ‘Rubber’ and write out the sentences with the words in ing-forms.
Underline the ing-form and state what part of speech it is (the Gerund or the Present
Participle ). Translate the sentences into Russian.

_Exercise 5 The sentences are not true to fact. Correct them.

For example: We can use rubber to draw.-That’s wrong. We can use rubber to rub out mistakes
in drawing

1) When we press a piece of rubber we can’t change its shape because it is hard.
2) Rubber is not elastic.

3) Rubber was first made to make rubber wheels.

4) Columbus discovered America in 1592.

5) Columbus sailed from Great Britain.

6) Rubber was used in Europe and other parts of the world in the fifteenth century.
7) It is called ‘rubber’ because it is elastic.

8) Rubber trees can grow everywhere.

9) It is easy to find rubber trees.

10) Nearly all the world’s rubber came from England and Europe.

TEXT 4

Exercise 1. Read and translate the text

Science and technology

What is Technology?
Technology means the use of people's inventions and discoveries to satisfy their needs.

Since people have appeared on the earth, they have had to get food, clothes, and shelter.

Through the ages, people have invented tools, machines and materials to make work easier.
Nowadays, when people speak of technology, they mean industrial technology.

Industrial technology began about 200 years ago with the development of the steam engine,
the growth of factories, and the mass production of goods. It influences different aspects of
people’s lives.

The development of car influenced where people lived and worked. Radio and television
changed their leisure time. The building of machines influences greatly the process of work
itself. Science has contributed much to modern technology.

Industrial technology depends on experience and science.

Exercise 2. Answer the questions to the text

What is technology?

What do people mean they speak of technology?

When did industrial technology begin?

How did the development of car, radio a TV influence people is life?
What does industrial technology depend on?

SNk WD~

Exercise 3. Give English equivalents to the Russian words and word combinations



HayKa, TEXHOJIOTUsl, U300pETEHUsI, OTKPBITHS, UCIIOJIb30BATh, MOTPEOHOCTH, yIOBIETBOPSITD,
MHCTPYMEHT, CTAaHOK, IPOMBIIIJIEHHBIN, pa3BUTHE, IAPOBOIl IBUraTellb, IPOU3BOJCTBO TOBAPOB,
BIIUSITh, U3MEHSTbH, JOCYT, BHOCUTH BKJIaJ B..., COBPEMEHHBII, 3aBUCETH OT...,OlbIT.

Exercise 4. Translate into English

Hayka o3Hauaer 3HaHue.

TexHOoIorHsI- 3TO U300PETEHUS U OTKPBITHSL.

N300peTenune napoBoro ABUrarTess sIBUIOCh Ha4ajaoM IIPOMBIIITIEHHON TEXHOJIOTHH.
JKu3Hb nr01ei n3MEHWIACh ¢ Pa3BUTHEM IPOMBIILIEHHON TEXHOJIOTUU.
CoBpeMeHHas TEXHOJIOTUS OCHOBaHA Ha HAaYKe.

IIpomsllIeHHAs TEXHOJIOTHS 3aBUCHT OT OIIBITA U HAYKHU.

Nk wDd -

JIroqu n3o0perany HHCTPYMEHTBI, CTAHKH U Pa3JIMuHbIe MaTEPHAJIbI, YTOOBI OOJICTYUTh
CBOIO padoTy.

Exercise 5. Tell the text 2
TEXT 5
Exercise 1. Read and translate the text
Scientific and Technological Progress

It’s difficult to overestimate the role of science and technology in our life. They accelerate the
development of civilization and help us in our cooperation with nature. Scientists investigate the
laws of the universe, discover the secrets of nature, and apply their knowledge in practice
improving the life of people.

Let’s compare our life nowadays with the life of people at the beginning of the 20-th century.
It has changed beyond recognition. Our ancestors hadn’t the slightest idea of the trivial things
created by the scientific progress that we use in our every day life. I mean refrigerators, TV sets,
computers, microwave ovens, radiotelephones, what not. They would seem miracle to them that
made our life easy, comfortable and pleasant. On the other hand, the great inventions of the
beginning of the 20-th century, I mean radio, aeroplanes, combustion and jet engines have
become usual things and we can’t imagine our life without them.

A century is a long period for scientific and technological progress, as it’s rather rapid.
Millions of investigations, the endless number of outstanding discoveries have been made. Our
century has had several names that were connected with a certain era in science and technology.
At first it was called the atomic age due to the discovery of the splitting of the atom. Then it
became the age of the conquest
of space when for the first time in the history of mankind a man overcame the gravity and
entered the Universe. And now we live in the information era when the
the computer network embraces the globe and connects not only the countries and
space stations but a lot of people all over the world. All these things prove the power and the
greatest progressive role of science in our life.

But every medal has its reverse. And the rapid scientific progress has aroused a number of
problems that are a matter of our great concern. These are ecological problems, the safety of
nuclear war threat, and the responsibility of a scientist.

But still we are grateful to the outstanding men of the past and the present who
have courage and patience to disclose the secrets of the Universe.

New Words



1. overestimate v. - IepeoLlEHUBATh

2 .accelerate v. - yCKOpSITh

3. investigate v. - UCCJIEIOBATH

4. Our ancestors hadn’t the slightest ideal of...- YV Hammx npeakoB He OBLIIO HU MaJICHIIIETO
IIPEJICTaBJICHHUS O. ..

trivial a. - oOBINEHHBIH

miracle n.- 4yno

combustion engine - IBUraTelib BHYTPEHHET0 CrOpaHus
endless a.- 6ecKOHEUHBIN

9. embrace v. - 0OXBaTbIBaTh

10 reverse n.- 000poTHasE CTOPOHA

11.arouse v.- BbI3bIBaTh

12.a matter of great concern - BOIpOC, BBI3BIBAIONINI 032004€HHOCTb
13.threat n. - yrpo3a

14.responsibility n.- OTBETCTBEHHOCTh

15.patience n.- TepneHue

16.disclose v.- 0OHapy>KUBaTh, paCKPHIBATH

17.universe n.- BceJeHHAs, MUP

18.apply v.- npUMEHSTb, yIOTPEOISTH

19.jet engine - peakTUBHBIN IBUraTEIIb

20.rapid a.- ObICTpBIii, CKOPBII

21.beyond recognition - 10 HEY3HABa€MOCTH

22.splitting n.- pacuienieHue

23.conquest n.- IOKOPEHUE

24.gravity n.- cuiia TSKECTH, IPUTSKEHUS, TPaBUTALINS
25.courage n.- CMEJIOCTh

PN

Exercise 2. Answer the questions to the text

1. What is the role of science and technology in our life?

2. What things, which we use in our daily life, would seem miracles to our ancestors?
3. How have great inventions changed our life?

4. What is our century called? Why?

5. Why was it called the atomic age?

6. What problems has the rapid scientific progress aroused?

7. We are grateful to the great scientists and inventors, aren’t we?

Exercise 3. Give English equivalents to the Russian words and word combinations

1. TpyaHO nepeoleHuBaTh pojib HAYKH U TEXHUKH B HAIIeH KU3HU.

2. Hamum nipeaky He UMETH HU MaJICUIIIEeTo MPeCTaBIeHUs 00 OOBIICHHBIX BEIIaX, CO3JaHHBIX
MPOTPECCOM HAyKH, KOTOPBIMU MBI MTOJIB3YEMCS KaXblil JICHb.

3. Beimu mpoBeieHbl MUJUTMOHBI UCCIICTIOBAHUN U CACIAHO OECKOHEYHOE YUCIIO BBIJAIOIIUXCS
OTKPBITHH.

4. Ho y mro60o¥ Menanu ecTh Apyras CTOPOHa.

5. W BcE xe MBI Oy1aroiapHbl BETHKUM YIEHBIM IPOILIOTO W HACTOSIIET0, Y KOTOPBIX €CTh
MYECTBO U TEPIIEHUE PACKPBIBATh CEKPETHI BCeIeHHOM.

Exercise 4. Fill in the gaps with the missing words from the text

1. Science and technology ... the development of civilization and help us in our ... with nature.
2. Trivial things created by the scientific progress would seem ... to our ancestors.
3. The great inventions made our life easy, ... and ... .
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4. A century is a long period for ... and ... progress, as it’s rather ... .

5. Now we live in the ... ... when the computer network ... the globe and ... not only the
countries and space stations, but a lot of ... all over the world.

6. Rapid scientific progress has ... a number of problems that are a matter of our great ... .

Exercise 5. Complete the following sentences with a suitable variant

1. Scientists investigate the laws of the Universe, discover the secrets of nature and then
a) write thick books improving the life of people.
b) invent different machines improving the life of people.
c¢) apply their knowledge in practice improving the life of people.
2. Our life nowadays, as compared with the life of people at the beginning of the 20 century,
a) has not changed at all.
b) has changed beyond recognition.
¢) has become more pleasant and comfortable.
3. Our century has had several names that were connected with
a) a certain era in science and technology.
b) a certain era in art and music.
c¢) the development of the society.

Exercise 6. Read the text, try to focus on its essential facts and choose the most suitable
heading for each paragraph

1. Things that make our life easy, comfortable and pleasant.

2. Every medal has its reverse.

3. The role of science and technology in our life.

4. The reason why the 20-th century has had several different names

Exercise 7 Using the facts from the text ,try to tell about :

1. Trivial things that make our life comfortable, but would seem miracles to our ancestors.
2. Why the 20-th century was called the atomic age, the age of the conquest of space and the
information era.

3. The problems caused by the rapid scientific progress.

TEXT 6
Exercise 1. Read and translate the text

Means of transport

People use various means of transport to get from one place to another

In the old days people had to travel several days, weeks and months to get to the place they
needed. They either went on foot, by coaches driven by horses or on horse back or by boats and
ships. Then trains, trams, cars, buses, airplanes, underground and other means appeared

Many people like to travel by air as it is the fastest way of travelling. A lot of people like to
travel by train because they can look at passing villages, forests, and fields through windows.
Some people like to travel by car. There they can go as slowly or as fast as they like. They can
stop when and where they want.

People who live in big cities use various means of transport to get from one place to another

Do you know what means of transport Londoners use?
Londoners use the underground railway. They call it ‘the tude’.

11



London’s underground is the oldest in the world. It was opened in 1863.

Londoners use buses. The first bus route was opened in London in 1904. Today there are

hundreds of routes there. The interesting thing is that some of the routes are the same as many
years ago. London’s buses are double-decked buses.
Londoners do not use trams, though London was the first city where trams appeared. And now it
is one of the biggest cites in the world where there are no trams. The last tram left the streets of
London many years ago.

Londoners use cars. You can see a lot of cars in London streets.

When Londoners leave the town, they use trains, ships or airplanes.

Exercise 2. Answer the questions to the text

1) What do people use to get from one place to another?
2) Why do people have to travel so long to get to the place they needed in the old days?
3) Why do many people like to travel by air (by train, by car)?

Exercise 3. Read with the teacher and study the use of the new worlds.

way, ways; Which is the best way home? Can you find your way?

horse, on horseback; There are several beautiful horses on the farm.

boat, by boat; Can I get there by boat? You can see a lot of ships and boats on the Volga.
slow, slowly; Speak slowly (not so fast). You read too slowly, Oleg.

early; He came home early. It was early in the morning.

several, several boys, several books; ‘Several’ means ‘more than two but not many’.

various, various books; We read various books.

appear, appeared; A ship appeared far away. The book appeared in the shop last month.
arrive, arrived; The train arrives in London at six.

decode, decoded; We decoded to stay at home.

direction, in the direction of; In which direction did he go? He went in the direction of the
tower. The boys ran in every direction.

travel, travelled; He travels a lot. Oleg’s grandfather travelled in many countries. I like the book
‘Gulliver’s Travels’.

about; Tell us about this film. This text is about a football match. He likes to read about great
men. [gor is about as tall as I am.

enough; We have enough time to get there. That’s enough.

tram, trams, go by tram, take a tram; You may take a tram to get there.

underground; The Moscow underground is the best in the world. The underground is the fastest
means of transport in big cities.

turn, turned; He turned his head and looked back.

lose (lost), lose something, lose something, lose somebody; This old woman lost two sons in
1942. 1'lost my new pen yesterday. Where did you lose it?

through, through the garden; We can look at our school through the window.

forest, forests; We walk home through the forest. There is a nice forest near our village.

pass, passing, passing years, passing forests; Please, let me pass. We passed through several
villages.

money; [ have no money. Where is the money?

fallow, followed; Monday follows Sunday. Mike went first and Pete fallowed him; following;
Read the following sentences.

same, the same; Read the same words. Answer the same question, Ann.

station, stations; It takes me ten minutes to get to the station.

tomorrow; Come to see us tomorrow morning.
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Exercise 4. Read and choose the words denoting: 1) means of transport;
2) ways for means of transport. Write them in two columns.

Way, car, train, river, lorry, road, horse, underground, street, bicycle, boat, pavement, tram,
ship, field, boat.

_Exercise 5 Arrange the words in pairs of opposites.
Slow, open, right, fast, take, early, hot, to, give, left, from, late, shut, cold.

Exercise 6 Use the pairs of words in the sentences of your own.
For example: Peteturned left, and Mike turned right.

It was warm yesterday, and it is cold

today.

Exercise 7 Arrange the words which are near in meaning.
For example: little, small
Big, several, beautiful, come, large, some, town, different, great, nice, appear, city, various.

Exercise 8 Guess the meaning of the following words.
For example: work-paborate; worker-pabouuii

travel- myTerecTBOBaTH; traveler- . . .
tell- paccka3bIBaTh; teller- . . .

sleep- criatp; sleeper- . . .
listen- ciymars; listener- . . .
run- 6erars; runner- . . .

Exercise 9 Give the three forms of the verbs.
Go, get, know, do, see, leave, lose, tell, say, speak, appear, follow, pass.

Exercise 10 Name the means of transport and say:

1) which is the slowest; 6) which you like best and why;
2) which is the fastest; 7) which you do not like and why;
3) which people can use only in towns; 8) which you often use;

4) which people can use only in the country; 9) which you never use;

5) which people can use everywhere; 10) which you used last time.

Exercise 11 Listen to dialogue and then pronounce it after the speaker.

DIALOGUE
Excuse me!
Yes?
Can you tell me how to get to the theatre?
Certainly.

What do you think is the best way to get there?
By underground, I think.

Is it the shortest way?

The fastest one.

TrI>E>D>

Exercise 12 Read the dialogue silently. Dramatize it ( work in_pairs )

New Words
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1. about- mpuOAM3UTENBEHO, OKOJIO; 0, 00 19. mile - mumns
2. appear - OSIBIISIThCA 20. money - 1eHbIu
3. arrive - npuObIBaTh, IPUE3KATh 21. pass — IpOXOJUTh; IIepeaaBaTh
4. boat - 10aKa 22. passing - MPOXOIALIHi
5. coach - kapera 23. route - MapuIpyT
6. decide - pematp 24. (the) same — TO ke camoe
7. direction - HanpaBJIeHUE 25. several - HECKOJIBKO
8. in the direction of — B HanpaBiIeHUH 26. slow - MeUIeHHBIA
9. double-decked bus — n1Byx3TaxHbIN 27 slowly - menneHHo
aBTOOYC 28. station - cTa”HIUA
10. early - pano 29. through — uepe3, ckBO3b
11. enough — nocraro4yHo, JOBOJBHO 30. tomorrow - 3aBTpa
12. follow - cienoBath 31. tram - TpamBai
13. forest - nec 32. travel — myTemecTBOBATH
14. horse — nomanp 33. tube — Tpy6a (MeTpo B JIoH10HE)
15. horse-races — ckauku 34. turn — moBopayuBaTh(-Cs)
16. on horseback — Bepxom Ha nomaau 35. underground — METPOTIONIUTEH
17. lose (lost) - TepsTh 36. various — pa3HbIii (pa3IUYHbIN)
18. lose the way - 3a0nyauThCs 37. way — yTb (cioco0)
TEXT 7

Exercise 1. Read and translate the text

American Cars

Let’s take a ride in one of our cars. Do you like music? Some of our cars have stereo
radios with cassette and CD players in them. Some big cars even have televisions and video
machines! Many people have telephones in their cars too! Have you ever called home from your
car?

In our cars we have windows that roll up or down by touching a button. And you can lock
and unlock the doors by pushing a different button.

Almost every car has a heater and an air conditioner to keep us warm in the winter and
cool in the summer.

We love our cars and we spend a lot of time in them. Some cars will the you the outside
temperature and what direction you are traveling (north, south, east or west) I’ve even seen cars
that talk to you! Can you imagine a car telling you to put your seatbelt on? Most Americans
always a seatbelt.

New Words

1. stereo- crepeo 11. direction- HanpaBiIeHHUE

2. cassette- kaccera 12. to put on — HaJEeBaTh

3. CD player — npourpsiBaTenb KOMIIAKT- 13. seatbelt —pemeHnb Oe30mMacHOCTH.
JIMCKOB 14. turn signals- MOBOPOTHBIE CUTHAJIBI

4. video- BuzE€O 15. headlights- ¢apsr

5. to roll- xatuth(cs) 16. hood — kamot nBUTraTens

6. to lock- 3anupars 17.windshield wipers- CTEKJIOOYMCTUTENH,

7. to unlock — ornupars «IBOPHUKH»

8. heater- paguarop 18. steering wheel- pynb

9. air conditioners — KOHIUIIMOHED 19. horn-curnan

10. cool — mpoxnaaHbIi 20. mirror- 3epKaio
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21. trunk- GaraxHUK 24. bumper- 6amrep
22. gas tank — Gak /14 TOIIMBA 25. tire- mmHa
23. tall lights- 3anaue daps 26. brake — Topmo3

Exercise 2. Below are descriptions of some car parts. Read each one and then write the parts
of the car.

1.You use these when you want to go left or right
2. You use it to stop.

3.You use it to lesson the effect of collision
4.You can put luggage in here

5.You turn this to steer the car

6.You use this to warn other drivers

7.You put gas in it

8.This covers the engine

9.You turn these on at night

10. This is the band of rubber on the rim ( 060x)

of the wheel.

New Words

1. to lessen- yMEHbIINUTH 5. engine- MOTOp

2. collision- cTOIKHOBEHUE 6. band- mosoca

3. to warn — npeaynpex1aTh 7. rubber- pe3una

4. to cover- NOKPbIBATh 8. wheel- koneco
TEXT 8

Exercise 1. Read and translate the text

The profession of automechanic.

Convenience seems to be the most common and most logical answer: cars take you where

you want to go and when you want to go there. Besides, a car is a way of self-expression.
But any car can not exist for a long time without a professional service. The representatives of
this service are automechanic.

An automechanicof nowadays is a qualified worker of a wide profile, who fulfils a technical
service and repairs of engine and any means of transport in a whole.

A specialist of this profession is able to define faulty signs at the first sight.

At our technical college the students learn the car device: its units and the system of assembly
the sets.
He must gain the knowledge to define and remove faulty despairs in electrical equipment and in
the system of control.

He acquires new skills in current and capital repairs of an automobile. He must know the latest
models of motorcar constructions in automobile industry.

As the park of transport means in our country increases from year to year we need greatly the
profession of qualified automechanics.

Exercise 2. Answer the questions to the text
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What is the text about?

How can you an automechanic of nowadays?

What is a specialist of this profession is able to do?

What do the students of our technical college learn?

What the knowledge do they gain?

Why do we greatly need the profession of qualified automechanics?

AR e

Exercise 3. Give English equivalents to the Russian words and word combinations

KpamudunmpoBanueiii pabOTHUK HMIMPOKOTO MPOQHIIs, BBHINOIHATH, TPAHCIOPTHOE CPENCTBO,
OIIPEJIETIATh HENONAAKH, ¢ MEPBOro B3IVIAJA, YCTPOMCTBO aBTOMOOMIIS, 3IEKTPOOOOPYI0BAHUE,
cucTeMa KOHTPOJs, NMPHOOpeTaTb yYMEHHE, TEeKYIIMA M KalUTAIbHBIA PEMOHT, IOCIEeIHUE
HaBBIKM aBTOMOOMJIECTPOCHHUS, TPAHCIIOPTHBIN NMAapK, HY>KAAThCS, TOJl OT FOAA.

Exercise 4. Put the word combinations according to the text

We need greatly, the profession of anautomechanic, from year to year, transport means, increase,
current and capital repairs, the latest fashions, automechanics industry, is able to define, at the
first sight, a qualified worker, students learn, the system of assembly the sets, do define.

Exercise 5 Match the columns, guessing by context

1. An automechanicof nowadays is... - we need greatly the profession of qualified
automechanics.

2. A specialist of this profession is able... - is a qualified worker of a wide profile.

3. He acquires new skills... - to define faulty signs at the first sight.

4. He must know... - in current and capital repairs of an
automobile.

5. As the park of transport means increases... - the latest models of motorcar constructions

in automobile industry.

Exercise 5. Tell the text

TEXT 9
Exercise 1. Read and translate the text

Construction of an automobile.

The primary components of a car are the power plant, the power transmission, the running
gear, and the control system. These constitute the chassis, on which the body is mounted.

The power plant includes the engine and its fuel, the carburetor, ignition, lubrication, and
cooling systems, and the starter motor.

The Engine.

The greatest number of cars use piston engines. The four-cycle piston engine requires four
strokes of the piston per cycle. The first downstroke draws in the petrol mixture. The first
upstroke compresses it. The second downstroke the power stroke following the combustion of
the fuel, supplies the power, and the second upstroke evacuates the burned gases. Intake and
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exhaust valves in the cylinder control the intake of fuel and the release of burned gases. At the
end of the power stroke the pressure of the burned gases in the cylinder is 2.8 to 3.5 kg/sq cm.
These gases escape with the sudden opening of the exhaust valve. They rush to a silencer
(muffler), an enlarged section of piping containing expanding ducts and perforated plates
through which the gases expand and are released into the atmosphere.

Greater smoothness of operation of the four-cycle engine were provided by the development
of the four-cylinder engine, which supplies power from one or another of the cylinders on each
stroke of the cycle. A further increase in power and smoothness is obtained in engines of 6, 8,
12, and 16 cylinders, which are arranged in either a straight line or two banks assembled in the
formof a V.

Exercise 2. Answer the questions to the text

1. What are the primary components of a car?

2. What does the power plant include?

3. What do the greatest number of cars use?

4. What does the engine consist of?

5. How many?

6. Cycles does the engine require?

7. What were greater smoothness of operation of the four-cycle engine were provided by?
8. How is a further increase in power and smoothness obtained in engines?

0.

Exercise 3. Give English equivalents to the Russian words and word combinations

1. TlopmrHeBoit nBUTATENH 10. Kapb6roparus/ kapOroparop

2. Huki 11. Oxnaxaenue

3. YUeThIpeXTaKTHBIN IBUTATETh 12. Craprep

4. T'oproumii ra3 13.ABTOmMaTnyeckas M pydHas KopoOka
5. BeixnomnHas Tpy6a nepenay

6. YcrpoiicTBo 14. Cuennenue

7. ABurarenb 15. KopoOka nepenau

8. 3axxuranue 16. IlonmyaBTOMaTHYECKHIA

9. Cmaska

Exercise 4. Translate into English

1. OHM TpeCTaBIAIOT COOOM MIaccH, Ha KOTOPOM yCTaHABIMBAETCS pama.

2. HaubonbIiee KOMMUECTBO aBTOMOOMIICH UCIIONIB3YIOT MOPIITHEBBIE ABUTATEIH.
3. [lepBoe nBMKEHUE ITUKJIA 3aTSITUBACT OCH3UHOBYIO CMECH.

4. Bropoe ABuXeHUE BBEPX BBHIBOJAUT CTOPEBIIHE Ia3bl.

5. OTH ra3el BBIBOJATCA C OTKPBITHEM BBIITYCKHOI'O KilallaHa.
6. KOTOpLIﬁ o0ecrieunBaeT MUTAaHUE HA Ka)KI[LIﬁ TaKT ABUTaTCIIA.

TEXT 10
Exercise 1. Read and translate the text

Carburation
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Air is mixed with the vapour of the petrol in the carburetor. To prevent the air and the
carburetor from becoming too cold for successful evaporation of the fuel, the air for the
carburetor is usually taken from a point close to a heated part of the engine. Modern carburetors
are fitted with a so-called float-feed chamber and a mixing or spraying chamber. The first is a
small chamber in which a small supply of petrol is maintained at a constant level. The petrol is
pumped from the main tank to this chamber, the float rising as the petrol flows in until the
desired level is reached, when the inlet closes. The carburetor is equipped with such devices as
accelerating pumps and economizer valves, which automatically control the mixture ratio for
efficient operation under varying conditions. Level-road driving at constant speed requires a
lower ratio of petrol to air than that needed for climbing hills, for acceleration, or for starting the
engine in cold weather. When a mixture extremely rich in petrol is necessary, a valve known as
the choke cuts down the air intake, permitting large quantities of unvaporized fuel to enter the
cylinder.

Exercise 2. Answer the questions to the text

Where is air mixed with the vapour of the petrol in the car?
Where is air for the carburetors usually taken from?

What are modern carburetors fitted with?

What is the carburetor is equipped with?

What is necessary when a mixture extremely rich in petrol?

M

Exercise 3. Give English equivalents to the Russian words and word combinations

1. CwmemmuBaTh 5. Ob6opynoBaHue

2. beH3MHOBBIE MapbI 6. Ckopoctb

3. KapGroparop 7. 3aBOAMTH IBUTATEIb
4. Kawmepa, nonoctb 8. Tommuso (roprouee

Exercise 4. Translate into English

1. Bo3ayx cmemmBaercs ¢ mapaMu OeH3MHA B KapOropaTope.

2. CoBpemeHHbIe KapOropaTOphl OCHAIIEHBI TaK HAa3bIBAEMOW CMEIIMBAIOIIEH KaMepOi.
3. bensuH nojaercs U3 0OCHOBHOTo 0aka B 3TOM Kamepe.

4. ABTOMaTHYECKU KOHTPOJIHMPYIOT COOTHOIIEHHE cMecH ISl 3 pekTUBHOM paboTh! B
pa3INYHBIX YCIOBHSIX.

5. Tlo3BoussAs GOMBIIMM KOJTMYECTBAM HEBBIMTAPEHHOTO TOIIMBA BONTH B LIUJIUHJIP.

TEXT 11
Exercise 1. Read and translate the text
The Clutch

Some type of clutch is found in every car. The clutch may be operated by means of a foot
pedal, or it may be automatic or semi-automatic. The friction clutch and the fluid coupling are
the two basic varieties. The friction clutch, which depends on solid contact between engine and
transmission, consists of: the rear face of the flywheel; the driving plate, mounted to rotate with
the flywheel; and the driven plate, between the other two. When the clutch is engaged, the
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driving plate presses the driven plate against the rear face of the flywheel. Engine power is then
delivered through the contacting surfaces to the transmission.

Fluid coupling may be used either with or without the friction clutch. When it is the sole
means of engaging the engine to the transmission, power is delivered exclusively through an oil
medium without any contact of solid parts. In this type, known as a fluid drive, an engine-driven,
fan-bladed disc, known as fluid flywheel, agitates the oil with sufficient force to rotate a second
disc that is connected to the transmission. As the rotation of the second disc directly depends on
the amount of engine power delivered, the prime result of fluid coupling is an automatic clutch
action, which greatly simplifies the requirements for gear shifting.

Exercise 2. Answer the questions to the text

Al

How may the clutch be operated?

How does the friction clutch work?

What is a fluid drive?

What is the friction clutch?

What is the prime result of fluid coupling?

Exercise 3. Give English equivalents to the Russian words and word

0O IO U B~ Wi~

. HOKHAas Tiefalib
. bpukunonHast mydra

. 3aJIHSISI TTOBEPXHOCTh MaXOBHKa
. BEJIOMBIN JUCK

. IPUBOIHAS TUTACTUHA

. MOIITHOCTb JIBUTaTENs

. TUJIpaBiInyecKas MyQpra

. KopoOKa nepenau

Exercise 4. Translate into English

1
2

. Kakoii-mn6o BUJ COCIINICHUA HAXOJUTCA B KaXKIOM aBTOMOOHIIE.
. CDpI/IKIII/IOHHaSI My(i)Ta N TUAPABINYCCKOC CUCIIIICHUE ABJISACTCA ABYMSA OCHOBHBIMUA

Pa3HOBHUIHOCTSAMU.

3

. MOIIHOCTE ABUTATESA 3aTEM JOCTABIISICTCS 4epe3 COIMMPUKOCHOBCHUEC HOBerHOCTeI\/’I J0

nepecaavn.

4

. Mo1HoCTh nepenaeTcsi HCKIIOUUTEIBHO Yepe3 MacisIHYIo cpelly 0e3 Kakoro-imbo KOHTaKTa

TBCPABIX JacTew.

5

. 'mppaBnruecknii MaxoBHK, IEPEMEIINBAIOIINN MaCJIO C JOCTaTOYHON CHUIIOMN.
TEXT 12

Exercise 1. Read and translate the text
Ignition.

The mixture of air and petrol vapour delivered to the cylinder from the carburettor is
compressed by the first upstroke of the piston. This heats the gas, and the higher temperature and
pressure facilitate and quick combustion. The next operation is that of igniting the charge by a
spark plug. One electrode is insulated by porcelain or mica; the other is grounded through the
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metal of the plug, and both form part of the secondary circuit of an induction system.

The principal type of ignition now commonly used is the battery-and-coil system. The
current from the battery flows through the coil and magnetizes the iron core. When this circuit is
interrupted at the distributor points by the interrupter cam, a current is produced in the primary
coil with the assistance of the condenser. This induces a high-voltage current in the secondary
winding. This secondary high voltage is needed to cause the spark to jump the gap in the spark
plug. The spark is directed to the proper cylinder by the distributor, which connects the
secondary coil to the spark plugs in the several cylinders in their proper firing sequence. The
interrupter cam and distributor are driven from the same shaft, the number of breaking points on
the  interrupter cam  being the same as the number of  cylinders.

The electrical equipment controls the starting of the engine, its ignition system, and the
lighting of the car. It consists of the battery, a generator for charging it when the engine is
running, a starter and the necessary wiring. Electricity also operates various automatic devices
and accessories, including windscreen wipers, directional signals, heating and air conditioning,
cigarette lighters, powered windows and audio equipment.

Exercise 2. Answer the questions to the text

How is the mixture of air and petrol vapour compressed by?
What facilitates ignition and quick combustion?

What is the next operation of igniting?

What is the principal type of ignition now?

Where is the spark directed?

What does the electrical equipment control?

SAINAIF i

Exercise 3. Give English equivalents to the Russian words and word

1. Tak Ha3bIBaeMBbIi 5. 3armymika

2. BBITh OCHAIIEHHBIM 6. 'opu3oHTaNIbEHOE ABUKEHUE
3. Koadpdumnuent 7. Ilotoxk

4. 3axxuranue 8. JXKene3Hblil KOXKYX

Exercise 4. Translate into English

1. Cnenyromas onepanus 3aKJ04aeTcs B BOCIUIAMEHEHUH 3apsiIoM OT CBEYH.

2. HeorpeMieMyro 4acTb BTOPUYHOM L€ UHAYKIIMOHHON CUCTEMBI.

3. Ecnu 3Ta nens npepBaHa Ha paclpeaenuTeNe ToueK MpephiBaTess KaMephl.

4. Vickpa HampaBiIeHHas Ha HAXOAALIMICS C IMIMHIPOM paclpeleuTeNb.

5. Kynauox npepsiBatess 1 pacpeaenuTens IpuBoOAITCsa B paboTy OT OJHOIO Baja.

6. CocToHT U3 aKKyMYJIATOpa, FeHepaTopa sl 3apsiIKi, cTapTepa i HEOOXOJUMOM MPOBOIKH.

TEXT 13
Exercise 1. Read and translate the text
Cooling

At the moment of explosion, the temperature within the cylinder is much higher than the
melting point of cast iron. Since the explosions take place as often as 2,000 times per minute in
each cylinder, the cylinder would soon become so hot that the piston, through expansion, would
“freeze” in the cylinder. The cylinders are therefore provided with jackets, through which water
is rapidly circulated by a small pump driven by a gear on the crankshaft or camshaft. During cold
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weather, the water is generally mixed with a suitable antifreeze, such as alcohol, wood alcohol,
or ethylene glycol.

To keep the water from boiling away, a radiator forms part of the engine-cooling system.
Radiators vary in shape and style. They all have the same function, however, of allowing the
water to pass through tubing with a large area, the outer surface of which can be cooled by the
atmosphere. In air cooling of engine cylinders, various means are used to give the heat an outlet
and carry it off by a forced draught of air.

Exercise 2. Answer the questions to the text

1. What is the temperature within the cylinder?

2. Why are the cylinders provided with the jackets?
3. What is mixed during the cold weather?

4. What do you know about the radiators?

Exercise 3. Give English equivalents to the Russian words and word

. B K&KIOM LIWIIMHIIPE
. 3alUIIEHbI pyOalKkaMu

. IIKKUB KOJICHYaTOro Basa

. BOJIa OBICTPO IUPKYIUPYET

. COCTaBJISIET YaCTh CHUCTEMBbI OXJIQXK/ICHUS IBUTATEIIS
. UMEIOT OJIHY U TY K€ (PyHKIHUIO

. MOXET OXJIaXKAAThCS

NN AW

Exercise 4. Translate into English

1. B MOMeHT B3pbIBa TEMIIEpaTypa BHYTPH LWJIMHPA HAMHOTO BBILIE, YEM TOUYKA IUIABJICHUS

YyryHa.
2. [IpuBosiIeil B IBUKEHNUE MEXAHU3M KOJIEHUYATOr0 Bajla MJIM PACIIPEIEIUTENILHOTO Baa.

3. Bo BpeMs X0NI0/IHO# MOTObI BOJIa B OCHOBHOM CMEIIIUBAETCS C MOAXOASIIAM aHTH(PPU30M.
4. Y1005l MNpeaAOTBPATUTE BBIKUIIAHUEC BOABLI paAraTOP COCTABIACT YaCTh CUCTEMBI OXJIAKACHU A
JBUTATETIS.

5. Paguaropsl paznuyatorcs 1o GopMe U CTUITIO.

TEXT 14
Exercise 1. Read and translate the text

The Power Transmission

The engine power is delivered first to the flywheel and then to the clutch. From the clutch,
which is the means of coupling the engine with the power-transmission units, the power flows
through the transmission and is delivered into the rear-axle drive gears, or differential, by means
of the drive shaft and universal joints. The differential delivers the power to each of the rear
wheels through the rear-axle drive shafts.

Exercise 2. Answer the questions to the text

1. Where is the engine power delivered?
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2. What is the means of coupling the engine?
3. How does the power deliver to the river wheels?
4. What is the role of power transmission?

Exercise 3. Give English equivalents to the Russian words and word

KOTOPOE SIBJISIETCS CPEICTBOM COEIMHEHUS
JIOCTABJISIETCS] K MPUBOAHBIM IIKHUBAM
YHHUBEpCaIbHbIE IIAPHUPHI

yepe3 3aJHIOI0 OCh MPUBOIHBIX IMTUHACIIEH
MOIIHOCTb JIBUTATENs

U

Exercise 4. Translate into English

1. MomHoCTh ABUTATENSI TOCTABIISETCS CHaYaIa K MAXOBHUKY, a 3aTEM K CIICTUICHHUIO

2. CueruieHHe SBJISIETCS] CPEJICTBOM COCTMHCHUS IBUTATENs ¢ KOPOOKOH mepeiad.

3. MomHocTh epenaeTcs 4epe3 KopoOKy mepead U TOCTABISIETCS Ha 33 JHIOI0 OCh TIPUBOJIHBIX
HIECTEPEH.

4. UYepes 3aHI0I0 OCh MPUBOJIHBIX IIECTEPEH.

TEXT 15
Exercise 1. Read and translate the text
The Starter

The petrol engine must usually be set in motion before an explosion can take place and
power can be developed; moreover, it cannot develop much power at low speeds. These
difficulties have been overcome by the use of gears and clutches, which permit the engine to
work at a speed higher than that of the wheels, and to work when the vehicle is at rest. An
electric starter receiving its current from the storage battery, turns the crankshaft, thus starting
the petrol engine. The starter motor is of a special type that operates under a heavy overload,
producing high power for very short periods. In modern cars, the starter motor is automatically
actuated when the ignition switch is turned on.

Exercise 2. Answer the questions to the text

1. When must the petrol engine usually set in motion?

2. How have these difficulties been overcome?

3. What does an electric starter receive from the storage battery?
4. Where is the starter motor automatically actuated?

Exercise 3. Give English equivalents to the Russian words and word

MIPUBECTU B IBUKECHUE

0oJIbIIIasi MOIITHOCTh Ha HU3KUX CKOPOCTSX
MO3BOJISET ABUTATENIO pabOTaTh

KOTI'1la aBTOMOOMJIb HAaXOIUTCS B IIOKOE

pa3BUBasi BHICOKYIO MOIITHOCTh 332 KOPOTKUE MEPUOIbI

el
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6. aBTOMATHYCCKHU IMPUBOAUTCA B I[CI\/JICTBI/IC
7. KII0Y B 3KUTaHUH IIOBEPHYT

Exercise 4. Translate into English

1. He MoxeT pa3BUTh MHOTO MOLTHOCTH Ha HU3KUX CKOPOCTSIX.

2. KoTopsble Mo3BOJSIOT IBUTATENIO pab0TaTh HA CKOPOCTH BBILIIE.

3. DIIEKTpUUYECKHUI CTapTep MOJIy4aeT CBOM X0/ OT aKKYMYJISITOPHOH Oarapen.

4. Craptep MOTOpA SBJISAETCS OCOOBIM THIIOM YCTPOUCTBA KOTOPBIN IEHCTBYET C CHIIbHOU
Meperpy3Kou.

5. B coBpeMeHHBIX MallIMHAX CTapTEP MOTOPA aBTOMATUYECKH IIPUBOJUTCS B ICHCTBHE.

TEXT 16
Exercise 1. Read and translate the text

Manual and Automatic Transmission.

The transmission is a mechanism that changes speed and power ratios between the engine and
the driving wheels. Three general types oftransmission are in current use: conventional or
sliding-gear, Hydra-Matic, and torque-converter systems.

The conventional transmission provides for three or four forward speeds and one reverse
speed. It consists of two shafts, each with gears of varying diameters. One shaft drives the other
at a preselected speed by meshing the appropriate set of gears. For reverse speed/an extra gear,
known as the idler gear, is required to turn the driven shaft in the opposite direction from normal
rotation. In high gear, the two shafts usually turn at the same speed. In low, second, and reverse
gears, the driven shaft turns more slowly than the driving shaft. When a pair of gears permits the
driven shaft to turn more rapidly than the driving shaft, the transmission is said to have
overdrive. Overdrive is designed to increase the speed of a car.

The Hydra-Matic type of transmission combines the automatic clutch provided by fluid
coupling with a semiautomatic transmission. A mechanical governor, controlled by the pressure
exerted on the accelerator pedal, regulates gear selection through a system of hydraulically
controlled shift valves. Hydra-Matic transmission provides for several forward gears. The
torque-converter type of transmission provides an unlimited number of gear ratios with no
shifting of gears.

The torque converter is a hydraulic mechanism using engine power to drive a pump, which
impels streams of oil against the blades of a turbine. The turbine is connected to the drive shaft
and causes it to rotate.

Both Hydra-Matic and torque-converter systems are controlled by a selector lever on the
steering column, which provides also for reverse and sometimes for emergency-low gears.

Exercise 2. Answer the questions to the text

. How is the term transmission defined in the text?
How many types of transmission are there in current use?
What is the conventional transmission?
What is overdrive?
What is the Hydra-Matic type of transmission?
What is the torque-converter of transmission?
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Exercise 3. Give English equivalents to the Russian words and word

1.. Mexanudeckasi TpaHCMHUCCUS- 6. 3anHuii Xox-

2. ABTOMaTHuecKkas KOpoOKa repeaad- 7. Ocb, BaJI-

3. Koadodunuent, oTHOImIEHHE- 8. [IpoMexxyTOUHas MIeCTepHSI-
4. 3ybuaras nepeaada, MeXaHU3M- 9. ABTOMaTHYECKOE CIIEIICHHE-
5. CxonbxeHue- 10.I'mapoTtpanchopmarop-

Exercise 4. Translate into English

1. Tpu OCHOBHBIX THIIA TIEPEAYX B TEKYIIIEM HCIIOIb30BAHUH.

2. OnuH BaJI IPUBOAMT B IBM)KCHHE IPYroil Ha 3apaHee BLIOpAaHHON CKOPOCTH.

3. IIpeobpazoBaTenb KpyTAIIET0O MOMEHTA MIPEICTABISAET COOOH THIPABIMYECKUN MEXaHU3M.
4. TypbuHa coelMHEHA C TPUBOJHBIM BaJIOM U 3aCTaBJISIET €r0 BPaIllaThCs.

5. YipaBisoTcs ¢ HOMOLIBIO pblyara ceJeKTopa Ha pyJIeBOI KOJIOHKE.

TEXT 17
Exercise 1. Read and translate the text
The Running Gear.

The running gear of the car includes the wheel-suspension system, the stabilizers, and the
wheels and tyres. The frame of the car may be considered the integrating member of the running
gear. It is attached to the rear axle and to the front wheels by springs. These springs, along with
the axles, the control and support arms, and the shock absorbers, constitute the wheel-suspension
system. In modern cars the front wheels are independently suspended from the frame in a
manner that permits either wheel to change its plane without appreciably affecting the other. This
type of front-wheel suspension is known popularly as independent suspension. The stabilizers
consist of spring-steel bars, connected between the shock-absorber arms by levers, to decrease
body roll and improve steerability.

Exercise 2. Answer the questions to the text

1. What does the running gear of the car includes?

2. What is the integrating member of the running gear?
3. What does the wheel-suspension system constitute?
4. What is the type of independent suspension?

5. What does the stabilizers consist of?

Exercise 3. Give English equivalents to the Russian words and word

1. Xonmosas yacTs- 6. IlomIOKOTHUK-

2. KonecHo- moaBecHas cucTeMa- 7. Crabunuzarop-
3. IlwuHbI- 8. YmnpaBisieMoCThb-
4. 3amHuit MOCT- 9. CocTaBaaThb-

5. Peccopsl- 10. Peccopnas cranb-

Exercise 4. Translate into English
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1. XonoBast 4acTh aBTOMOOMJISI BKIIFOUAET CUCTEMY MOIBECKU KOJIEC.

2. MOXHO CYUTATh HHTETPUPYIOIINM 3JIEMEHTOM XOJ0BOH YacTH.

3. B coBpeMeHHBIX aBTOMOOMIISIX TIEpEAHNE KOJIeca HE3aBUCHMO JIPYT OT Jpyra IMOABEIIEHBI K
pame.

4. CTabUnu3aTOphI COCTOST U3 MPY)KUH CTAJIBHBIX CTEPIKHEH.

5. UtoOBl yMEHBIIUTH KPEH Ky30Ba U YIYUIIUTh yIIPABISIEMOCTb.

Vocabulary:

1. explosion — B3pbIB, B3pbIBYATOE BEILIECTBO
2. within — BHYTpH

3. melting point — TOYKa TUIABJICHUS

4. cast iron — 4yryH

5. piston — nopIieHb

6. expansion — paclIupeHHe

7. cylinder — nuiuHIp

8. boil away — BeIKuIIaTH

9. jacket — uexoi, KOXKyX, pyOalika
10.tubing — Tpy6a, TpyOOTIpOBOI

11.heat — HarpeB, HaKamn

12.outlet — BBIXOJJHOE OTBEPCTHE, BHIXOJ]
13.carry off — yHOCUTB, BBIIEpKUBATH
14.forced draught- nckyccTBeHHas TAra
15.camshaft — pacnpenenurenbHbIN Bal
16.set in motion— NPUBOJAUTH B IBHKEHHE
17.developed — pa3pabatsiBaTh, COBEPIIICHCTBOBATH
18.moreover — cBepX TOro, KpoMe TOro
19.permit — MoO3BOJISATH, JaBATh BOZMOXXHOCTh
20.current — TeUeHHE, X0

21.storage — XpaHeHHE, aKKyMYJIUPOBaHUE
22 .crankshaft — xonenuatsIii Ban
23.overload — meperpyxars, nmeperpyska
24 .actuated — mpUBOAUTH B ICMCTBUE
25.ignition — 3aKUTaHNE

26.shaft — Baj, och, IIMUHIEITH

27.engine — MalllMHa, IBUTaTEIh
28.deliver — nocTaBaaTh

29.flywheel — maxoBuK

30.coupling — coenuHeHne

31.rear — 3aHs14 CTOPOHA, 3aIHUI

32.axle — och

33.gear — 3yOuaTas nepeaaua, MECTEPHS, MEXaHU3M
34 joints - coeTUHEHUS

35.clutch — cuennenue, mydTa crerieHus
36.fluid — >kxuaKHHA, KAJIKOCTH

37.coupling — coenuHeHHE

38.solid — TBepbIii, MPOYHBIH

39.mount — MOAHUMATHCS, YyCTaHABINBATh
4(0.rotate — BpaiaTh, BpamaTbCs
41.engage — 3alEILIATh
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42 .sole — eIUHCTBEHHBIN, HCKIIFOYNUTEIHLHBINA
43.agitate — MelIaTh, IEpPEMEIINBATh

44 force — HarHeTaTh

45.gear — 3yOuaras nepenaya, IIECTEPHs, MEXaHU3M
46.shift — nepenBuxeHune
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